PSE 476
Homework #7
Due 1/31/05

1. Which of the following carbohydrates are lost to a higher degree during kraft cooking? (1 point)
a) Xylans

b) Glucomannans

2. What is saponification? (1 point)
a) The consumption of alkali through reaction with acidic groups such as carboxylic acids.
b) The formation of internal esters (lactones) through the reaction between carboxylic acids and alcohols.

c) The alkaline cleavage of fats resulting in the formation of fatty acids and glycerol along with consumption of alkali.

3. Why is the fact that wood species can contain different levels of fats important to kraft pulping? (1 point)
a) Variable levels of fats can cause problems with the EA because of alkali consumption due to saponification reactions.
b) High levels of fats can reduce liquor penetration.

c) High levels of fats can cause foaming problems in the recovery furnace.

4. Are pine trees acidic, basic, or neutral? (1 point)
a) Acidic

b) Basic

c) Neutral

5. The kraft pulping process has been divided into 3 chemical phases.  In which of these phases in the majority of lignin removed? (1 point)
a) Initial

b) Bulk

c) Residual

6. Is lignin more susceptible to reaction during the initial or bulk phase of the kraft cook? (1 point)
a) Initial

b) ]Bulk.
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